Pattern

griundl

Hat with Triangle Pattern

Difficulty level:

SN

Needles:

6-7mm

Quality:

Sylt from Griindl
80 % Polyacrylic,
20 % Wool

100g /130 m

Size:
Head circumference approx.
52 -56cm

Usage: approx. 100 gin

col. 13 (honey yellow) or

col. 04 (anise), or col. 06 (chest-
nut)

Stitch Pattern:

Stockinette stitch in rnds: knit all sts

Garter stitch in rnds: alt 1rnd purl and 1rnd knit
sts

Triangle pattern: (amount of sts multiple of 12)
(refer to chart) only every 2nd rnd is shown. Work
the alt rnds in knit sts.

Tension: (kraus rechts)

13 sts and 25 rnds. to 10 cm meas over garter
st using size 6-7 mm needles or size needed to
achieve given tension.

Pattern:

Using the dpns, cast on 60 and divide evenly

among the needles (= 4 x 15 sts) and close rnd

being careful not to twist the sts. Work 12 rnds in
garter st. Then cont in triangle patt working the

12 st rep 5 times in the rnd. When hat meas total

of 20 cm (= 49 rnds (=12 rnds in garter st, Ist -

24th rnd of chart then 1st - 13th rnd of chart))
work the decs as foll:

Rnd 50: work until 2 sts before garter st then
k2tog tbl, k1 (garter st), k2tog tbl. Work
these decs in every patt rep (= 50 st).
Work the decs in the foll rnd links as
established in patt.

Work the rnds between the decs as established

in chart.

Rnd 54: work until 2 sts before the 5 garter st
then k2tog tbl, k5 (garter st), k2tog
tbl. Work these decs in every patt rep
(= 40 st). Work the decs in the foll rnd
links as established in patt.

Rnd 58: work every 3rd and 4th st as k2tog
(=30 sts)

Rnd 62: work every 2nd and 3rd st as k2tog
(=20 sts)

Rnd 64: k2tog throughout (= 10 sts)

Cut yarn with long tail and pull through rem

10 sts twice. Pull yarn to close hole. Sew pom-

pom onto the top of the hat. Weave in ends.
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Abbreviations:

alt = alternate(ing)
approx. = approximate(ly)
beg = begin(ning)

col = colour(s)

cont = continue (continuously)
dec(s) = decrease(s)

foll = follow(s)/ following

k = knit

meas = measure(d)

patt = pattern

p = purl

rep = repeat

rnd(s) = round(s)

st(s) = stitch(es)

tbl = through back loop
tog = together
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